Match-Up WMode, Median and Range

1 | Find the range: 86955117 A 5.5

2 | Find the mode: 75746724 B 9

3 |Find the median: 679 12 13 C 0.5

4 | Find the mode: 8562657 D 2

5 | Find the median: 8426511 E 2.1

6 | Find the range: 6 5564545 F 6

7 | Find the median: 6 —24-30 G| 5and6
8 | Find the mode: 7310 4 85 H 1

9 |Find the median: 7.1 48 3.3 5.6 I 7

10 | Find the mode: 6 —143064 J 0

11 | Find the median: 7—5—-9051 K 5.2
12 | Find the range: 905 -23-1 L 4 and 6
13 | Find the mode: 1.1 21 22 2.1 15 M 11
14 | Find the median: % g 1% % % 1% N | Nomode
1 2 3 4 5 6 7 8 9 10 | 11 12 13 14




